

ORIGINAL ARTICLE

Non-invasive prenatal test uptake in socioeconomically disadvantaged neighborhoods

Karuna R. M. van der Meij¹  | Caroline Kooij¹ | Mireille N. Bekker²  |
Robert-Jan H. Galjaard³  | Lidewij Henneman¹  | Dutch NIPT Consortium

¹Department of Human Genetics and Amsterdam Reproduction & Development Research Institute, Amsterdam UMC, Vrije Universiteit Amsterdam, Amsterdam, The Netherlands

²Department of Obstetrics and Gynecology, Utrecht University Medical Center, Utrecht, The Netherlands

³Department of Clinical Genetics, Erasmus Medical Center, Rotterdam, The Netherlands

Correspondence

Lidewij Henneman, Department of Human Genetics, Section Community Genetics, Amsterdam Reproduction and Development Research Institute, Amsterdam UMC, VUMC, PO Box 7057, 1007 MB Amsterdam, The Netherlands.
Email: l.henneman@amsterdamumc.nl

Funding information

Netherlands Organization for Health Research and Development (ZonMw), Grant/Award Number: 543002001

Abstract

Objective: Non-Invasive Prenatal Testing (NIPT) is increasingly being implemented worldwide. In public health programs, equitable access to healthcare is a fundamental principle which also applies to fetal aneuploidy screening. However, the out-of-pocket costs of NIPT may lead to sociodemographic disparities in uptake of screening. This study assessed whether there is a difference in the uptake of NIPT in socioeconomically disadvantaged neighborhoods compared to all other neighborhoods in the Netherlands, where NIPT is implemented in a national screening program (TRIDENT-2 study).

Method: NIPT uptake, postal code and age of 156,562 pregnant women who received pre-test counselling for prenatal screening in 2018 were retrieved from the national prenatal screening database. Postal codes were used as a proxy to categorize neighborhoods as being either socioeconomically disadvantaged or other. The out-of-pocket costs for NIPT were €175.

Results: NIPT uptake in socioeconomically disadvantaged neighborhoods was 20.3% whereas uptake in all other neighborhoods was 47.6% ($p < 0.001$). The difference in NIPT uptake between socioeconomic disadvantaged neighborhoods and other areas was smaller for the youngest maternal age-group (≤ 25 years) compared to other age-groups.

Conclusion: The variation in uptake suggest underlying disparities in NIPT uptake, which undermines the goals of a national fetal aneuploidy screening program of providing reproductive autonomy and equitable access. This has ethical and policy implications for ensuring fair and responsible implementation of fetal aneuploidy screening.

This is an open access article under the terms of the Creative Commons Attribution-NonCommercial-NoDerivs License, which permits use and distribution in any medium, provided the original work is properly cited, the use is non-commercial and no modifications or adaptations are made.

© 2021 The Authors. Prenatal Diagnosis published by John Wiley & Sons Ltd.

Key points**What's already known about this topic?**

- Equitable access and reproductive autonomy are fundamental principles of fetal aneuploidy screening, especially in the context of a public health screening program
- Financial barriers limit access to prenatal screening

What does this study add?

- NIPT uptake in socioeconomically disadvantaged neighborhoods was over two times lower than NIPT uptake in all other neighborhoods, suggesting underlying disparities
- The differences in NIPT uptake between neighborhoods were less for women younger than 25 years

1 | INTRODUCTION

Non-Invasive Prenatal Testing (NIPT) uses cell-free DNA, derived from maternal plasma, to screen for fetal aneuploidies. The test was first introduced in 2011 as a safe and reliable screening test to rule out common fetal aneuploidies in high-risk pregnant women, thereby reducing the number of invasive diagnostic test.¹ NIPT has many advantages compared to conventional screening methods: it can be done earlier in pregnancy, has fewer false-positives and exhibits higher sensitivity.² As a result, many countries have started to implement NIPT either in their public healthcare systems or commercially, and offer it as a first-tier test for all pregnant women or as a second-tier test for women at increased risk for fetal aneuploidy.³ Recently, the American College for Obstetricians and Gynecologists (ACOG) recommended that NIPT be offered to all pregnant women, regardless of their age or prior risk.²

Fetal aneuploidy screening policies, reimbursement strategies and uptake vary greatly between countries.^{3,4} The cost of NIPT generally ranges between €164 and €654 (or \$200–800 USD) in most countries.⁴ Concerns have been raised about inequitable access to NIPT due to high out-of-pocket costs, disproportionately affecting those of lower socioeconomic status.^{4,5} In order to responsibly implement NIPT, especially in the context of public health programs, equitable access for all pregnant women should be a fundamental goal.⁶

In the Netherlands, all pregnant women are offered first-tier NIPT as part of the TRIDENT-2 study since April 2017 (TRial by Dutch laboratories for the Evaluation of Non-invasive prenatal Testing).⁷ Due to a law (the Dutch Population Screening Act) prohibiting the offer of screening for untreatable disorders without a governmental license, there are no commercial screening offers in the Netherlands.⁴ After the introduction of NIPT as first-tier screening test in the Netherlands, uptake of fetal aneuploidy screening increased from 34% in 2016 to 46% in 2018.⁸ Compared to other European countries the uptake of fetal aneuploidy screening in the Netherlands is low.³ This may be explained by a combination of several factors such as the framing of the screening offer focusing on the 'right not to know', positive attitudes toward Down syndrome and negative attitudes toward termination of pregnancy.⁹ Previous studies in the Netherlands, as well as in other countries, have shown that women of non-Western descent,^{10–13} and

women with lower education and lower income levels,^{10,12–14} were less likely to have fetal aneuploidy screening due to language barriers, logistical barriers, provider-related determinants, insufficient knowledge and value inconsistency.

Enabling pregnant couples to make an informed and autonomous decision is the primary aim of fetal aneuploidy screening.¹⁵ For ethical and responsible implementation of NIPT, equitable access is considered a fundamental prerequisite of a national prenatal screening program.⁶ This study aimed to determine whether there is a difference in uptake of NIPT in socioeconomically disadvantaged neighborhoods compared to other neighborhoods in the Netherlands.

2 | MATERIALS AND METHODS

We conducted a retrospective cross-sectional cohort study to compare NIPT uptake in neighborhoods with different socioeconomic status. Pregnant women in the Netherlands during the year 2018 were included in the study.

2.1 | Setting

The Dutch prenatal screening program consists of: 1) first-trimester screening for fetal aneuploidies with a choice between NIPT (out-of-pocket costs €175 in 2018) as part of the TRIDENT-2 study or first-trimester combined testing (FCT out-of-pocket costs €170 in 2018), and 2) screening for fetal structural anomalies with the 20-week fetal anomaly ultrasound scan (free of charge). The offer of screening focuses on the 'right not to know' (i.e., women are first explicitly asked whether they want to receive information about the screening). Women who express an interest receive a 30-minute pre-test counselling session by a certified obstetric professional (mostly primary care midwives). Counselling sessions for fetal aneuploidy screening and NIPT uptake are registered in the Dutch prenatal screening registration database Peridos by counsellors to ensure quality of the Dutch prenatal screening program.

2.2 | Data collection

Anonymized pre-test counselling data (maternal age and postal codes) and NIPT uptake between January 1st 2018 and December 31st 2018 were retrieved from Peridos for analysis. FCT uptake (overall 2.6% in 2018)⁸ was not included in this study. Approximately 10% of pregnant women in the Netherlands did not receive counselling for prenatal screening in 2018.

Neighborhoods were delineated by postal codes and categorized as being either socioeconomically disadvantaged or other as determined by the Dutch Healthcare Authority (NZa), an administrative authority under the auspices of the Dutch Ministry of Health in 2019. Postal codes are indexed by the NZa based on three criteria: 1) proportion of inhabitants with low income, 2) proportion of non-Western or Middle- or Eastern-European immigrants, and 3) proportion of inhabitants with entitlement to governmental benefits (excluding pensions). Low income was defined by NZa as a net monthly income of €1040 for a single person, and €1960 for a family with two children.¹⁶

2.3 | Data analysis

All statistical analysis was performed using IBM SPSS Statistics 26. Descriptive analysis and a comparison of means between groups was performed. Logistic regression analysis was calculated to test the association between disadvantaged and other neighborhoods and NIPT uptake. Age was tested as a possible confounder and effect modifier. The results from the logistic regression analysis were stratified by maternal age-groups.

2.4 | Ethical approval

Ethical approval for this database study was provided by the VU University Medical Center Ethical committee (VUMC No. 2017.165).

3 | RESULTS

In 2018, a total of 156,562 pregnant women were registered in the national database with complete records including counselling, NIPT uptake, postal codes and age. Approximately 10% of the women ($n = 14,839$) were living in socioeconomically disadvantaged areas. The average NIPT uptake in socioeconomically disadvantaged neighborhoods was 20.3% compared to 47.6% in all other neighborhoods ($p < 0.001$). Logistic regression analysis showed that pregnant women living in other areas were significantly more likely to elect for prenatal screening with NIPT compared to pregnant women living in socioeconomically disadvantaged areas (OR 3.56; 95% CI: 3.4–3.7).

Overall, the women who chose NIPT had a significantly higher mean age than women who did not have NIPT (31.5 vs. 29.4 years,

respectively; $p < 0.001$). Age was not a confounding factor. However, age was shown to be an effect-modifier: the difference in NIPT uptake between socioeconomic disadvantaged neighborhoods and other areas was smaller in the youngest maternal age-group (≤ 25 years) compared to all other age-groups, due to fewer women in other neighborhoods choosing to participate (Table 1).

4 | DISCUSSION

The results from this nationwide database study demonstrate significant variation in the uptake of fetal aneuploidy screening in socioeconomically disadvantaged neighborhoods in the Netherlands compared to all other neighborhoods. This supports concerns regarding potential disparities in the uptake of NIPT, which conflicts with the primary goals of a government-supported national screening program of equitable access and reproductive autonomy. Our study corroborates findings from other high-income countries such as Australia,^{17,18} the United Kingdom¹² and the United States,¹⁹ where socioeconomic disparities in fetal aneuploidy screening uptake were also reported.

A possible explanation for the differences in the uptake of NIPT in the Netherlands might be the out-of-pocket costs of €175. On the one hand, it has been argued that a (small) financial barrier may encourage informed decision-making among pregnant women by promoting deliberation.²⁰ On the other hand, requiring a payment for NIPT could actively hinder equitable access to the test due to women being unable to pay for fetal aneuploidy screening, thus impeding on their freedom to choose.^{5,19} A survey study among European healthcare providers indicated that the costs and a lack of reimbursement policy were considered to be the primary barrier to broader NIPT uptake.²¹ Reimbursement of fetal aneuploidy screening might promote equitable access and informed decision-making.^{5,22,23}

Studies have shown that when fetal aneuploidy screening is reimbursed, utilization increases significantly.^{19,24} A Canadian survey study showed that a majority of pregnant women (66.4%) agreed that reimbursement of NIPT would greatly impact their decision to choose the test.²⁵ Furthermore, a vignette study among the Dutch general public showed that when NIPT was hypothetically fully reimbursed, significantly more respondents indicated they would consider NIPT, suggesting that reimbursement policies influence attitudes towards accepting or declining NIPT.²⁶

In 2018, the uptake of fetal aneuploidy screening was 46% in the Netherlands,⁸ whereas the uptake of the free-of-charge 20-week fetal anomaly scan was 83%.²⁷ Moreover, Posthumus et al.¹⁰ showed that Dutch women of low socio-economic status were more likely to only have the 20-week anomaly scan without fetal aneuploidy screening compared to high/normal socio-economic status women (72% vs. 47%). Offering only one of the two screening programs free of charge may result in a misconstrued belief that the 20-week anomaly scan is more relevant than aneuploidy screening.

TABLE 1 Differences in NIPT uptake between socioeconomically disadvantaged neighborhoods and all other areas stratified by maternal age

Age-group (years)	NIPT (%)	No NIPT (%)	OR (95% CI)
≤25 years			
Socioeconomic disadvantaged area (ref)	401 (10.7)	3346 (89.3)	
All other areas	4628 (23.5)	15,096 (76.5)	2.6 (2.3–2.9)*
26–30 years			
Socioeconomic disadvantaged area (ref)	975 (19.4)	4048 (80.6)	
All other areas	23,399 (44.8)	28,846 (55.2)	3.4 (3.1–3.6)*
31–35 years			
Socioeconomic disadvantaged area (ref)	1072 (26.7)	2935 (73.3)	
All other areas	27,907 (55.9)	21,991 (44.1)	3.5 (3.2–3.7)*
≥36 years			
Socioeconomic disadvantaged area (ref)	570 (27.7)	1491 (72.3)	
All other areas	11,544 (58.1)	8313 (41.9)	3.6 (3.3–4.0)*

Abbreviations: CI, Confidence Interval; NIPT, Non-Invasive Prenatal Test; OR, Odds Ratio; Ref, reference category.

Note: * $p < 0.001$.

Other factors besides costs might also influence the variation in NIPT uptake. Healthcare professionals might also play a role; for example, by overestimating a woman's knowledge or understanding of prenatal screening, or allowing insufficient time for pre-test counselling because of other pressing concerns.²⁸ Literacy, or religious or cultural factors might also influence uptake.^{11,29–32} Differences in uptake of screening might create disparities in other (health) outcomes, such as the live birth prevalence of Down syndrome.³³ In addition, when invasive testing is reimbursed and NIPT is not, there may be an increased exposure to iatrogenic risk from the invasive testing for high-risk women.¹⁷

The differences in uptake of NIPT between socioeconomically disadvantaged neighborhoods and other areas was smaller in the age-group of ≤25 years. Advanced maternal age is an established risk-factor for trisomy 21.³⁴ Previous research has shown that aneuploidy screening uptake is lower among women younger than 25,⁸ likely due to a perceived lower risk of having a child with Down syndrome.³⁵ Because of this, the differences in uptake between socio-economic disadvantaged and other areas may be less among younger women. Another explanation may be that the socio-economic differences may be larger in other age-groups resulting in bigger differences in uptake between socioeconomically disadvantaged neighborhoods and other neighborhoods compared to the youngest age-group. According to Statistics Netherlands (CBS), the average household income for the age-group below 25 years is over two times lower than the average income in the age-group between 25 and 35 years.³⁶

Strengths of this study include the use of a large national database, allowing us to accurately report on the differences in NIPT uptake between socioeconomically disadvantaged neighborhoods and all other neighborhoods. This study also has limitations.

Only cases with complete registrations of counselling, NIPT uptake, postal code and age were included in our study, excluding an estimated 10% of women in the Netherlands who did not receive counselling in 2018. It is unclear how this number is distributed between socioeconomically disadvantaged areas and other neighborhoods. It is possible that more women living in socioeconomically disadvantaged neighborhoods did not receive counselling for prenatal screening, which could have caused underrepresentation of socioeconomically disadvantaged areas in our study. However, the reasons why 10% of Dutch women did not receive counselling are not clear. In order to preserve their 'right not to know' women may refuse counselling, which likely explains part of the proportion of women that did not receive counselling. Furthermore, FCT uptake was excluded from this study. It is possible that women who did not choose NIPT elected for FCT instead. However, FCT uptake in 2018 was only 2.6% and is therefore not likely to have influenced our results much.

In conclusion, NIPT uptake was more than two times lower in socioeconomically disadvantaged neighborhoods compared to other neighborhoods. The variation in NIPT uptake between neighborhoods supports concerns regarding underlying disparities in the uptake of fetal aneuploidy screening. Within the context of national prenatal screening programs, equitable access and reproductive autonomy are principal goals.¹⁵ These aims cannot be achieved when disparities in uptake to screening persist.²² Though our results indicate unequal uptake of fetal aneuploidy screening, the reasons behind this result remain unclear. It is imperative that potential barriers to uptake are identified and addressed. Research is needed to determine whether the out-of-pocket payment (€175) is a barrier for prenatal screening uptake, especially for women living in socioeconomically disadvantaged areas. Our findings have

both ethical and policy implications, and can assist policy makers in promoting the equitable implementation of NIPT within public healthcare systems.

ACKNOWLEDGEMENTS

This study was made possible using data from Peridos, the national digital registration system for prenatal screening in the Netherlands. The authors thank all Dutch NIPT Consortium members (see Supporting Information 1). The study is supported by a grant from the Netherlands Organization for Health Research and Development (ZonMw grant no. 543002001).

CONFLICT OF INTEREST

The authors have stated explicitly that there are no conflicts of interest in connection with this article.

DATA AVAILABILITY STATEMENT

The data that support the findings of this study are available from Peridos the national digital registration system for prenatal screening in the Netherlands. Restrictions apply to the availability of these data, which were used under license for this study. Data are available from the authors only with permission of Peridos.

ORCID

Karuna R. M. van der Meij  <https://orcid.org/0000-0002-1801-588X>

Mireille N. Bekker  <https://orcid.org/0000-0002-7372-4291>

Robert-Jan H. Galjaard  <https://orcid.org/0000-0002-8101-6180>

Lidewij Henneman  <https://orcid.org/0000-0003-3531-0597>

REFERENCES

1. Allyse M, Minear MA, Berson E, et al. Non-invasive prenatal testing: a review of international implementation and challenges. *Int J Womens Health*. 2015;7:113-126.
2. Rose NC, Kaimal AJ, Dugoff L, Norton ME. Screening for fetal chromosomal abnormalities: ACOG practice bulletin, number 226. *Obstet Gynecol*. 2020;136(4):e48-e69.
3. Gadsbøll K, Petersen OB, Gatinois V, et al. Current use of noninvasive prenatal testing in Europe, Australia and the USA: a graphical presentation. *Acta Obstet Gynecol Scand*. 2020;99:722-730.
4. Ravitsky V, Roy MC, Haidar H, et al. The emergence and global spread of noninvasive prenatal testing. *Ann Rev Genom Hum Genet*. 2021;22:309-338.
5. Bunnik EM, Kater-Kuipers A, Galjaard R-JH, de Beaufort ID. Should pregnant women be charged for non-invasive prenatal screening? Implications for reproductive autonomy and equal access. *J Med Ethics*. 2020;46:194-198.
6. Dondorp W, de Wert G, Bombard Y, et al. Non-invasive prenatal testing for aneuploidy and beyond: challenges of responsible innovation in prenatal screening. *Eur J Hum Genet*. 2015;23(11):1438-1450.
7. van der Meij KRM, Sistermans EA, Macville MVE, et al. TRIDENT-2: national implementation of genome-wide non-invasive prenatal testing as a first-tier screening test in the Netherlands. *Am J Hum Genet*. 2019;105(6):1091-1101.
8. van der Meij KRM, de Groot-van Moeren M, Carbo EWS, et al. Uptake of fetal aneuploidy screening after the introduction of the non-invasive prenatal test: a national population-based register study. *Acta Obstet Gynecol Scand*. 2021;100:1265-1272.
9. Crombag NM, Vellinga YE, Kluijfhout SA, et al. Explaining variation in Down's syndrome screening uptake: comparing the Netherlands with England and Denmark using documentary analysis and expert stakeholder interviews. *BMC Health Serv Res*. 2014;14:437.
10. Posthumus AG, Peters IA, Borsboom GJ, Knapen MFCM, Bonsel GJ. Inequalities in uptake of prenatal screening according to ethnicity and socio-economic status in the four largest cities of the Netherlands (2011-2013). *Prenatal Diagn*. 2017;37(10):959-967.
11. Franssen MP, Essink-Bot ML, Vogel I, Mackenbach JP, Steegers EAP, Wildschut HJ. Ethnic differences in informed decision-making about prenatal screening for Down's syndrome. *J Epidemiol Community Health*. 2010;64(3):262-268.
12. Dormandy E, Michie S, Hooper R, Marteau TM. Low uptake of prenatal screening for Down syndrome in minority ethnic groups and socially deprived groups: a reflection of women's attitudes or a failure to facilitate informed choices? *Int J Epidemiol*. 2005;34(2):346-352.
13. Kuppermann M, Learman LA, Gates E, et al. Beyond race or ethnicity and socioeconomic status: predictors of prenatal testing for Down syndrome. *Obstet Gynecol*. 2006;107(5):1087-1097.
14. Gitsels-van der Wal JT, Verhoeven PS, Mannien J, et al. Factors affecting the uptake of prenatal screening tests for congenital anomalies; a multicentre prospective cohort study. *BMC Pregnancy Childbirth*. 2014;14(1):264.
15. de Jong A, de Wert GM. Prenatal screening: an ethical agenda for the near future. *Bioethics*. 2015;29(1):46-55.
16. Nederlandse Zorgautoriteit (NZa). *Prestatie- en tariefbeschikking verloskunde*. TB/REG-19622-03; 2019. Accessed August 1, 2021. https://puc.overheid.nl/nza/doc/PUC_248120_22/
17. Hui L, Barclay J, Poulton A, Hutchinson B, Halliday JL. Prenatal diagnosis and socioeconomic status in the non-invasive prenatal testing era: a population-based study. *Austr NZ J Obstet Gynaecol*. 2018;58(4):404-410.
18. Maxwell S, Brameld K, Bower C, et al. Socio-demographic disparities in the uptake of prenatal screening and diagnosis in Western Australia. *Austr NZ J Obstet Gynaecol*. 2011;51(1):9-16.
19. Benoy ME, Iruretagoyena JI, Birkeland LE, Petty EM. The impact of insurance on equitable access to non-invasive prenatal screening (NIPT): private insurance may not pay. *J Community Genet*. 2021;12(1):185-197.
20. Vanstone M, Cernat A, Majid U, et al. Perspectives of pregnant people and clinicians on noninvasive prenatal testing: a systematic review and qualitative meta-synthesis. *Ont Health Technol Assess Ser*. 2019;19(5):1-38.
21. Benachi A, Caffrey J, Calda P, et al. Understanding attitudes and behaviors towards cell-free DNA-based noninvasive prenatal testing (NIPT): a survey of European health-care providers. *Eur J Med Genet*. 2020;63(1):103616.
22. Rolfes V, Schmitz D. Unfair discrimination in prenatal aneuploidy screening using cell-free DNA? *Eur J Obstet Gynecol Reprod Biol*. 2016;198(suppl C):27-29.
23. Bakkeren IM, Kater-Kuipers A, Bunnik EM, et al. Implementing non-invasive prenatal testing (NIPT) in the Netherlands: an interview study exploring opinions about and experiences with societal pressure, reimbursement, and an expanding scope. *J Genet Counsel*. 2020;29(1):112-121.
24. Huang T, Dougan S, Walker M, Armour CM, Okun N. Trends in the use of prenatal testing services for fetal aneuploidy in Ontario: a descriptive study. *CMAJ Open*. 2018;6(4):E436-E444.
25. Birko S, Ravitsky V, Dupras C, et al. The value of non-invasive prenatal testing: preferences of Canadian pregnant women, their partners, and health professionals regarding NIPT use and access. *BMC Pregnancy Childbirth*. 2019;19(1):22.
26. Kater-Kuipers A, Bakkeren IM, Riedijk SR, et al. Non-invasive prenatal testing (NIPT): societal pressure or freedom of choice? A

- vignette study of Dutch citizens' attitudes. *Eur J Hum Genet.* 2021;29(1):2-10.
27. Liefers J, Atsma F. *Monitor 2018: Prenatale screening op down-, edwards en patau'syndroom en het Structureel Echoscopisch Onderzoek.* IQ Scientific Center for Quality Healthcare; 2019.
 28. Ukuhor HO, Hirst J, Closs SJ, Montelpare WJ. A Framework for describing the influence of service organisation and delivery on participation in fetal anomaly screening in England. *J Pregnancy.* 2017;2017:4975091.
 29. Fransen MP, Schoonen MH, Mackenbach JP, et al. Ethnic differences in participation in prenatal screening for Down syndrome: a register-based study. *Prenat Diagn.* 2010;30(10):988-994.
 30. Peters IA, Heetkamp KM, Ursem NTC, Steegers EAP, Denktas S, Knapen MFCM. Ethnicity and language proficiency differences in the provision of and intention to use prenatal screening for Down's syndrome and congenital anomalies. A prospective, non-selected, register-based study in the Netherlands. *Matern Child Health J.* 2018;22(3):343-354.
 31. Gitsels-van der Wal J, Mannien J, Gitsels LA, et al. Prenatal screening for congenital anomalies: exploring midwives' perceptions of counseling clients with religious backgrounds. *BMC Pregnancy Childbirth.* 2014;14:237.
 32. Gitsels-van der Wal JT, Mannien J, Ghaly MM, Verhoeven PS, Hutton EK, Reinders HS. The role of religion in decision-making on antenatal screening of congenital anomalies: a qualitative study amongst Muslim Turkish origin immigrants. *Midwifery.* 2014;30(3): 297-302.
 33. Khoshnood B, De Vigan C, Vodovar V, Bréart G, Goffinet F, Blondel B. Advances in medical technology and creation of disparities: the case of Down syndrome. *Am J Public Health.* 2006;96(12): 2139-2144.
 34. Sherman SL, Allen EG, Bean LH, Freeman SB. Epidemiology of Down syndrome. *Mental Ret Dev Disab Res Rev.* 2007;13(3):221-227.
 35. Crombag NM, Boeije H, Iedema-Kuiper R, Schielen PCJ, Visser GHA, Bensing JM. Reasons for accepting or declining Down syndrome screening in Dutch prospective mothers within the context of national policy and healthcare system characteristics: a qualitative study. *BMC Pregnancy Childbirth.* 2016;16(1):121.
 36. Centraal Bureau voor Statistiek. *Inkomensverdeling;* 2019. Accessed August 1, 2021. <https://www.cbs.nl/nl-nl/visualisaties/inkomensverdeling>

SUPPORTING INFORMATION

Additional supporting information may be found in the online version of the article at the publisher's website.

How to cite this article: van der Meij KRM, Kooij C, Bekker MN, Galjaard R-JH, Henneman L, Dutch NIPT Consortium. Non-invasive prenatal test uptake in socioeconomically disadvantaged neighborhoods. *Prenat Diagn.* 2021;41(11):1395-1400. doi:10.1002/pd.6043